(O b.200 ns
(O €.200 ps
) d.100 ns
() e. 800 ps
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Consider a processor oparating at 2 GHz connected to o DRAM with a latency of ¢ = 200 ns initially without
using caches. Assume that the processor is of 4-path multi-pipeline architecture and has 2 multiply-add units.
Knowing that the dot-product computation performs one multiply-add on a single pair of vector elements, so
that each floating peint operation requires one data feteh, then the limit for the peak speed of this
computation (for each one floating point operation) - in terms of [nano seconds, MFLOPS] - is:
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[s] . [200, 5]
- ¢, [200, 4]
O d. 100, 2]
1 e [100, 8]

Clear my choice
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O a. 300 cycles

RO

() ¢.100 cycles

. () d. 200 cycles
'; ® e. 400 cycles ;
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Consider a processor operating at 2 GHz connected to a DRAM with a latency of . =200ns

initially without using caches. Assume that the processor is of 4-path multi-pipeline
architecture and has 2 multiply-add units. Consider introducing a cache of size 32 KB with a
latency of 1 ns. We need to multiply two matrices [A] and [B] of dimensions 32 x 32. The
number of words needed to be fetched into the cache is:

O a. 4K Words
Eb. 2K Words
ZOVYECRO@URNIT
O c.K Words
) d. M Words

O e.2M Words

Clear my choice



| Ocask
O d.32M
O e. 32K

Clear my choice
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Consider a processor operating at 2 GHz connected to a DRAM with a latency of L = 200 ns initially without
using caches. Assume that the processor is of 4-path multi-pipeline architecture and has 2 multiply-add units.
Consider introducing a cache of size 32 KB with a latency of 1 ns. We need to multiply two matrices [A] and [B]
of dimensions 32 x 32. The needed time to perform this matrix multiplication at the rate of 4 instructions / cycle
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® a.8us
O b.16 ns
O c.2ms
O d.4pus
O e.4ns
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For an 8-point parallel FFT implementation, the O() complexity for executing real
multiplications is:

':ffj POWWEROUNIT
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General MidTerm

g at 2 GHz connected to a DRAM with a latency of L = 200 ns i ﬂf
the processor is of 4-path multi-pipeline architecture and has 2 multiy
e of size 32 KB with a latency of 1 ns. We need to multiply two matrices



